Budget Detail Worksheet

Purpose: The Budget Detail Worksheet may be used as a guide to assist you in the preparation of the budget and budget narrative. You may submit the budget and budget narrative using this form or in the format of your choice (plain sheets, your own form, or a variation of this form). However, all required information (including the budget narrative) must be provided. Any category of expense not applicable to your budget may be deleted.

Please Note: The following budget is an example intended to assist you in preparing your application budget.

A. Personnel - List each position by title and name of employee, if available. Show the annual salary rate and the percentage of time to be devoted to the project. Compensation paid for employees engaged in grant activities must be consistent with that paid for similar work within the applicant organization.

Name/Position	Computation	Cost
Program Coordinator	\$23,500 x 100% x 3 years	\$ 70,500
Investigator Administrative Assistant	\$45,000 x 100% x 3 years \$10/hr. x 20 hrs/month x 36 months	\$135,000 \$ 7,200

The Program Coordinator will coordinate the tribe's Tribal Governments Program project by organizing regular coordinating council meetings between all partner organizations, ensuring compliance with program requirements, and serving as the central point of contact for all project activities.

The Investigator is an investigator with the tribal law enforcement agency. She/he will dedicate 100% of their time to investigating cases of domestic violence, sexual assault, dating violence and stalking that occur on tribal lands.

The Administrative Assistant for the project will be a part-time employee. She/he will be compensated at a rate of \$10/hour. The designated time spent on the project will be 20 hours each month providing administrative and clerical support to the staff of the Victim Services Program.

TOTAL PERSONNEL: \$ 212,700

B. Fringe Benefits - Fringe benefits should be based on actual known costs or an established formula. Fringe benefits are for the personnel listed in budget category (A) and only for the percentage of time

devoted to the project. Fringe benefits on overtime hours are limited to FICA, Workman's Compensation, and Unemployment Compensation.

Name/Position	Computation	Cost
Program Coordinator		
Employer's FICA	\$70,500 x 7.65%	\$ 5,393
Health Insurance	\$70,500 x 6.12%	\$ 4,315
Workmen's Compensation	\$70,500 x 1.00%	\$ 705
Unemployment Compensation	\$70,500 x 0.50%	\$ 353
Investigator		
Employer's FICA	\$135,000 x 7.65%	\$10,328
Health Insurance	\$135,000 x 6.12%	\$ 8,262
Workmen's Compensation	\$135,000 x 1.00%	\$ 1,350
Unemployment Compensation	\$135,000 x 0.50%	\$ 675
Administrative Assistant		
Employer's FICA	\$ 7,200 x 7.65%	\$ 551
Health Insurance	\$ 7,200 x 6.12%	\$ 441
Workmen's Compensation	\$ 7,200 x 1.00%	\$ 72
Unemployment Compensation	\$ 7,200 x 0.50%	\$ 36

TOTAL FRINGE BENEFITS: \$32,481

TOTAL PERSONNEL AND FRINGE BENEFITS: \$245,181

The tribe is requesting fringe benefits for the Program Coordinator, the Investigator, and the Administrative Assistant.

C. Travel - Itemize travel expenses of project personnel by purpose (e.g., staff to training, field interviews, advisory group meeting, etc.). Show the basis of computation (e.g., six people to 3-day training at \$X airfare, \$X lodging, \$X subsistence). In training projects, travel and meals for trainees should be listed separately. Show the number of trainees and unit costs involved. Identify the location of travel, if known. Indicate source of Travel Policies applied, Applicant or Federal Travel Regulations.

Purpose of Travel	Location	Item	Computation	Cost
OVW-Mandated Training and	TBD	Airfare	\$500 (avg.) x 3 people x 4 trips	\$6,000
Technical Assistance		Lodging	\$ 100 (avg.) x 3 nights x 3 people x 4 trips	\$3,600
	7	Per diem	\$ 50 (avg.) x 4 days x 3 people x 4 trips	\$2,400

\$12,000 of the required \$20,000 in OVW mandated technical assistance and training funds has been allocated to cover the cost of travel for staff of the tribe in accordance with program guidelines. The sites of the training sessions are unknown at this time. Travel estimates are based upon the tribe's formal written travel policy.

TOTAL TRAVEL: \$12,000

D. Equipment - List non-expendable items that are to be purchased. (Note: Organization's own capitalization policy for classification of equipment should be used.) Expendable items should be included either in the "Supplies" category. Applicants should analyze the cost benefits of purchasing versus leasing equipment, especially high cost items and those subject to rapid technical advances. Rented or leased equipment costs should be listed in the "Contractual" category. Explain how the equipment is necessary for the success of the project. Attach a narrative describing the procurement method to be used.

Item	Computation	Cost	
(2) Video Cameras	\$750/camera x 2 cameras	\$1,500	

The video cameras will be used during the interviews of alleged offenders, as well as to record witness testimony in preparation for trial in cases of domestic violence, dating violence, sexual assault, and stalking.

TOTAL EQUIPMENT: \$1,500

E. Supplies - List items by type (office supplies, postage, training materials, copying paper, and other expendable items such as books, hand held tape recorders) and show the basis for computation. Generally, supplies include any materials that are expendable or consumed during the course of the project.

Supply Items	Computati	on	Cost	
Office Supplies	\$150/month x	36 months	\$5,400	
(paper, computer discs, pens, etc.)				
Postage	\$ 50/month x	36 months	\$1,800	
75 Victim Assistance Kits	\$ 25/kit x	75 kits	\$1,875	

Office supplies and postage are needed for the general operation of the program. The Victim Assistance Kits will be provided to victims of domestic violence, dating violence, sexual assault, and stalking who seek assistance from the program. The kits contain toiletries and other necessities. The estimated cost is based on previous kit prices from other programs. We estimate that at least 75 kits will be needed.

TOTAL SUPPLIES: \$9,075

F. Construction - As a rule, construction costs are not allowable. In some cases, minor repairs or renovations may be allowable. Consult with the program office before budgeting funds in this category.

Purpose Description of Work Cost

TOTAL CONSTRUCTION: \$0

G. Consultants/Contracts - Indicate whether applicant's formal, written Procurement Policy or the Federal Acquisition Regulations are followed.

Consultant Fees: For each consultant enter the name, if known, service to be provided, hourly or daily fee (8-hour day), and estimated time on the project. Consultant fees in excess of \$450 per day require additional justification and prior approval from the Office on Violence Against Women.

Name of Consultant	Service Provided	Computation	Cost
Consultant /Trainer Part-Time Prosecutor	Sexual Assault Training Prosecution	\$450/day x 3 days \$50/hr. x 20 hrs./month x 36 months	\$ 1,350 \$36,000

A Consultant/Trainer will provide a three day on-site training on sexual assault and related issues to tribal leaders, law enforcement, prosecution, court personnel, and medical and social services personnel. The training will focus on the challenges of providing support and advocacy services to Indian victims of sexual assault, dating violence, and elder abuse.

The tribe will hire a Part-Time Prosecutor. The Part-Time Prosecutor will be compensated at an hourly rate of \$50/hour. The Part-Time Prosecutor will spend 20 hours each month prosecuting crimes related to domestic violence, dating violence, sexual assault, and stalking.

Subtotal Consultant Fees: \$37,350__

Consultant Travel: List all expenses to be paid from the grant to the individual consultant in addition to their fees (i.e., travel, meals, lodging etc.).

Purpose of Travel	Location	ltem	Computation	Cost	
OVW-Mandated Training and	TBD	Airfare	\$500 (avg.) x 2 people x 4 trips	\$4,000	
Technical Assistance		Lodging	\$ 100 (avg.) x 3 nights x 2 people x 4 trips	\$2,400	
		Per diem	\$ 50 (avg.) x 3 days x 2 people x 4 trips	\$1,200	
			Subtotal OVW-Mandated Training:	\$7,600	
Delivery of Sexual Tr	ribe's Reservation	Airfare	\$500 (avg.) x 1 person x 1 trip	\$500	

Assault Training

Local Hotel	Lodging	\$50 (avg.)/night x 2 nights	\$100
Local Area	Per diem	\$35 (avg.)/day x 3 days	\$105

Sub-total Sexual Assault Training: \$705

Subtotal Consultant Travel: \$8,305

\$8,000 of the required \$20,000 in OVW mandated technical assistance and training funds has been allocated to cover the cost of travel for staff of the tribe in accordance with program guidelines. The sites of the training sessions are unknown at this time.

Funds have also been allocated to pay for the Consultant/Trainer to travel to the reservation to provide sexual assault training.

Contracts: Provide a description of the product or services to be procured by contract and an estimate of the cost. Applicants are encouraged to promote free and open competition in awarding contracts. A separate justification must be provided for sole source contracts in excess of \$100,000.

Item	Computation	Cost	
Cell Phone Service	\$ 75/month x 36 months	\$ 2,700	
GSA Vehicle Lease	\$300/month x 36 months	\$10,800	

The Shelter Advocates will share a cellular phone so that they may be contacted 24 hours/day, 7 days a week to provide emergency services and transportation to victims in need.

A vehicle is needed for use by the Shelter Advocates, and other program staff to transport victims to and from the tribe's shelter, court, and other agencies and resources. After doing a comparison, the tribe has concluded that it would be more cost-effective to lease a vehicle than to purchase a vehicle for this purpose.

Subtotal \$13,500

TOTAL CONTRACTS AND CONSULTANTS: \$59,155

H. Other Costs - List items (e.g., rent, reproduction, telephone, janitorial or security services, and investigative or confidential funds) by major type and the basis of the computation. For example, provide the square footage and the cost per square foot for rent, and provide a monthly rental cost and how many months to rent.

Description	Computation	Cost
Sexual Assault Training Manual	\$ 25/manual x 25 manuals	\$ 625
Resource Manual	\$ 25/manual x 75 manuals	\$ 1,875
Crisis Hotline	\$ 75/month x 36 months	\$ 2,700
Brochures	\$.25/brochure x 1,000 copies x 2 Titles	\$ 500
Rent	\$1.50/sq. foot x 1,000 sq. feet x 36 months	\$54,000
Utilities	\$200/month x 36 months	\$ 7,200
Housing Assistance	\$500/family x 12 families/year x 3 years	\$18,000

The Sexual Assault Training manuals will be purchased from the Sexual Assault Resource Center and will be used in conjunction with the on-site training that will be provided by the Consultant/Trainer.

The Project Coordinator will develop and produce a Resource Manual for services both on and off the Reservation for victims of domestic violence, sexual assault, and stalking. Copies of the manual will be provided to all units of Tribal government and to victim services and social services agencies in the local community.

Many victims in the more geographically remote areas of the Reservation do not have long distance service, and it is a long distance call for most of them to the program office. The project will continue to operate an 800 hotline for victims. It will be staffed by volunteers on a daily basis.

The program has previously developed brochures explaining the dynamics of domestic violence and sexual assault and detailing the services offered by the program. Additional copies of the brochures need to be reproduced. Based on previous distribution patterns, it is anticipated that the program will distribute 1,000 copies of each brochure during the 36 month grant period.

The Victim Services Program rents a safe house that is located off-reservation in the local community. The house is used to provide temporary housing to victims of domestic violence and their minor children who are in need of a safe place to stay after fleeing an abusive situation. The rent is consistent with the fair market rate for similar properties in the local community.

The cost of utilities (i.e., gas, electric, and water service) averages \$200/month. The services are necessary to ensure that the house is suitable for occupancy.

Funds have been budgeted to provide transitional housing assistance to at least one victim of domestic violence, dating violence, sexual assault or stalking each month. Each victim and her dependents will receive up to \$500 to assist with rent and utility payments or security deposits.

TOTAL OTHER COSTS: \$84,900

I. Indirect Costs - Indirect costs are allowed only if the applicant has a Federally approved indirect cost rate. A copy of the rate approval (a fully executed, negotiated agreement) must be attached. If the applicant does not have an approved rate, one can be requested by contacting the applicant's cognizant Federal agency, which will review all documentation and approve a rate for the applicant organization, or if the applicant's accounting system permits, costs may be allocated in the direct costs categories.

Description	Computation	Cost	
13.25% of DirectSalaries	\$212.700 x 13.25%	\$28.183	
(Excluding Fringe Benefits	, ,	φ 2 0,103	
`	,	- December of the latest of the court	41 -
		e Department of the Interior, the applic	
cognizant Federal agency	on January 1, 2009. (A cop	of the fully executed, negotiated agre-	ement is

attached).

TOTAL INDIRECT COSTS: \$28,183

Budget Summary- When you have completed the budget worksheet, transfer the totals for each category to the spaces below. Compute the total direct costs and the total project costs. Indicate the amount of Federal funds requested and the amount of non-Federal funds that will support the project.

Budget Category A. Personnel	Amount \$212,700
B. Fringe Benefits	\$32,481
C. Travel	\$12,000
D. Equipment	\$1,500
E. Supplies	\$9,075
F. Construction	\$0
G. Consultants and Contracts	\$59,155
H. Other Costs	\$84,900
Total Direct Costs	\$411,811
I. Indirect Costs	\$28,183
TOTAL PROJECT COSTS	\$439,994
Federal Share Requested Non-Federal (Match) Amount	\$439,994 \$0